MANIPOLAZIONE DI GRAFICI - CORREZIONE

1) y=f(x)=—2

x2 +1

2) x3 +1=(x+1)2

x3+l=(x+1)2

x3 AL = x% + 2x 41
x3—x2-2x=0
x(x2 —x—2)=0
x(x+1)(x-2)=0

X=0vXx=-1lvx=2

3) x-1+1=+/2x

Vx-1+1=+/2x

XAAF+2x=1=2x; 2Jx-1=x
Ax-1) =x2; 4x—-4=x?%; x2-4x+4=0
(x=2)2 =0

X =2 accettabile
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X = XT2
x3+2x% =1 (x #-2)
x3+2x2-1=0
(x+1)(x2+x—1):0
_ ~-1,62
X=-1v x= 14—“/5:
2 ~ 0,62
X 1
5y -X_
) 2 x%+41
X_ 1 3 o9 (3 — 0 2 0 v
2 2.1 X3—-x=2; X3+x+2=0; (x+1)(x x+2)_0, Xx=-1
6) Y4x=x

Jax =x; 4x=x3; x3—-4x=0; x(x2—4)=0; X=0v X=12



7) Yx+3=x3

VX+3=x/3
Poniamo +/x =t

non puo essere uguale
t+3=1t23; t2/3-t-3=0; 1t :11V1+12J§ = <0 3una radice quadrata

23 ~1636

Jx ~1,636 - x ~ 2,677

8 [x—4=




